Imig i nazwisko

Zadanie 1 - Upros¢ wyrazenia:

wWZOr Ix-2y-6x+ty=|3x-6x-2y+1ly=-3x-y
a Tx—5+2x—-4=
b —8x+3m+ 5x—6m=
C 1,2x-3.8-56x+1,7=
d 48 —4x+ 5 +23x=
e llx+§—4lx—1,5=
6 2

3

Zadanie 2 — Upros¢ wyrazenia:

wzor 3x-5)+(2x-8)=|3x-5+2x-8 =5x-13
a (Tx=8)+(5x-3) =
b (4a-5)+(3a+7)=
c (—1,8x°—4) + (5x* - 0,3) =
d (%x+]%)+(—l%x—2.5)=

Zadanie 3 — Upros¢ wyrazenia:

wzor | «(Tx—3)—(5x+1) =|-Tx+3-5x—1=—12x+2
a ~(8x—3) - (-4x+4)=
b =7 +2x) - (8x— 12) =
¢ ~5-4x)- (8 + 12x) =
d 2Ax+5)+3(x—6)=
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3x+2)-3(x-5)=
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